¢ PBo§ )
E%ua&ions wé/‘h rfachcns ancl /j.f'ac/(cfs

n) (J‘_"S) 2) (71 +2)
3
LCM; 3 . LL"Y\ :—é
@&-5) = 2i 3(14—2)
— = —
T =5 = 3]
%X = ZI%ES 3(1+2)
x = ab . 3x +6
3x
3x
xX
s e
?;) 5( Q—IH) = 3(31—5)
I
LOMN = l)_ ( :
&ugmﬂ) = Q(3x~5)
12 12
-520(?7;4") = q(31“5>
LkC‘L +20 = AT - 4S5
Lox—-271x = —45-20
A% = _‘(DS
J)< = j‘é}S
13
= =5
Q (x+) +3 = 2
& T e
Lim = s | 7
3(x+1) + 45 = JQ
‘S 19 |6-
30eh) + 45 = 10
3x+3 = l0-45
3x+3 = — 35
3‘1', = ‘-35-3
ol = — 3%
2 = —88
3
e = = [

,/-In Swels

E

w:—

-5
3

T

|

|

10
o=
i
/s

-6



5) b ~2(x+3) =8

7 3 2
Lem = 2] .
iz —iy(x#3) =5
21 2 2]
1] -—IL}.C’I'FE)’) - 5
I8~ I4x-42 =5
18-42 -5 = 4
=49 = V2t
===
I
L = x
It
(o) T e T = S
3 )
LeM = IS
5(xt2) + 6 = 43%
5] i) IS

5(x+2) +6 = 45T

HOx
HC = X
40
2 =X
S
7) (x1) - § =(xt| Lol = G
2 1 3
3(x7) — 30 = a(xt)
& (& (>

3(x-7) - 30 = 2(x+)
3x-al =30 = 2x+2
3y —2% = 24+21+30
pa = 55



8) (32+5) =(2x-3) — 4

> 2
Lem = 1O
;(3x+s) = ’5(21—3) - 40
iO )o lo
R(3x+5’) = S(ﬁ1—3> - 140
6x+io = lox IS — O
Gr+lo = [Ox “SS
6485 = Ot =6%
éSL: 4.')‘L
s =%
4
= S
G

q) '2(37;'@ +1 = 1(2+3)
= B Salal

e
Lem =9 ,
6(3x-4) + 4 = 7(2143)
: 2 :
e(3x-4) +4 = T(2x+3
Bx-Ly +9 = Ibx + 21
12 x =15 . = J4yx 42|
I€x - ipx = 21 +i5
L}—’)L & 36
x = 3b
i
| X=9g
o) 4(5-2x) - 3x = (a1
= ; s
Lem = 4O
31(‘5-273 - J20x = S DC*-_I)
40 Lo Lo

32(5-2x) ~ 120x = 5(x-7)

160 - 4x -120x =51 -35
bo—184%x = Sx-3S
oo +35

= Sx + 184
Va5 = 118G ¢
S - =
138G
% =

(849



= (O (3xuxs)

m
40 - L;s(éﬂx) = Jogx -+ /_2(2;@

s 6O 6O 60

40 - 45 (b +77C) = 300x + ;2(2-1)
o =110 = SVFE 300x + QY — 127

— 230 — 315 = Q288X + 24
—230-24 = 288x +315%
— 2S5y = 603x
—_ 235 = =9
c03
\Q) 5 +2} = (L -1 _3~27c/;~'
P ] N L
Lem = 23
o + Sbr = 4(“—7) = 7(3-21)
Al AL 3% 2%
luo +Sbx = q_(ur:/) -7(3-27<)
IO +56x = lex-2% —2| + I4¢

Lo +56x = 30x — 49
Stx—3Ccx = —49 - 14O

e = =~ ieq
206

R



